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Q1 Q2 Q3 Q4 Q5 

4 4 1 2 3 

Q6 Q7 Q8 Q9 Q10 

1 1 1 3 1 

Q11 Q12 Q13 Q14 Q15 

3 3 2 1 4 

 

Q16) 10 Q17) 20 Q18)  
1 234 700 

Q19) 9 Q20) 17 : 13 

Q21) AD Q22) 32 cm2 
Q23) 2

1
4
 m 

Q24) 1 Q25) 10 cm 

Q26) 

 

Q27) 9911.58 Q28) $1.20 Q29) 440 Q30) 464 

 

Paper 2 

Q1)  

 GM : GF  

At first 5 : 6  

     

 GM : C Diff 

 5 : 1 4 

 
4 u = 120 

 1 u = 30 
 6 u = 180 
Q2)  

P : Q  Q : R 

3 : 4  2 x 2 : 3 x2 

    4 : 6 

 
 P : Q : R 
 3 : 4  : 6 



Q3) 3   = 240 
 1  = 80 

 200 – 160 = 40 (1  ) 
Q4)  

       
Q5)  

Area A 
 

6 

Area Y 
 

7 

Area B 
 

4 

 
8 

Area C Area D Area Z  
5 
 

 
 48 = 8 x 6 (Area A) 
 32 = 8 x 4 (Area B) 
 30 = 6 x 5 (Area C) 
 35 = 7 x 5 (Area D) 
 Area of Y = 8 x 7 = 56 cm2 
 Area of Z = 5 x 4 = 20 cm2 
Q6) 12 x 15 = 180 
 14 x 13 = 182 
 180 + 182 = 362 
Q7) 6 x 6 = 36 
 48 + 6 = 54 
 54 – 36 = 18 
 18 ÷ 6 = 3 
Q8) Length of big square = 12 cm 
 Length of small square = 9 cm 

 Area of triangle = 
1
2
  x 9 x 12 = 54 cm2 

 
 
 
 



Q9) 1 - 
5
8
  = 

3
8
  

 
2
5
  x 

3
8
  = 

3
20

  

 3 u = 51 
 1 u = 17 
 17 x 20 = 340 cm  
Q10)  

R : S 

5 : 8 

 
5 u = 100 

 1 u = 20 
 8 u = 160 
 160 – 23 = 137 

S : T 

160 : 137 

Q11) 4 u = $20 880 
 3 + 3 + 4 = 10 
 10 u = $52 200 
 5 p = $52 200 
 6 p = $62 640 
Q12)  

M : C Total 

5 : 9 14 

 
 5 u (2) + 9u (4) = 460 (Total number of wheels) 
 46 u = 460 
 14u = 140 
Q13) 32 x 3 = 96 (number of ice-cream shared among 8 students) 
 96 ÷ 8 = 12 
 12 x 40 = 480 

Q14) 
1
4
  of Eugene = 

2
5
  of Minho 

 
2
8
  of Eugene = 

2
5
  of Minho 

 8 – 5 = 3 
 3 u = 33 
 1 u = 11 
 8 + 5 = 13 
 13 x 11 = 143 
 
 
 
 
 



Q15) If Mrs Sim gave Nancy 24 buttons 
  

Mr Sim : Nancy  Total 

1u : 1u 2u 

 
 If Nancy gave Mrs Sim 24 buttons 

Mr Sim : Nancy  Total 

3p : 1p 4p 

 
 1p + 24 = 1u – 24 
 1p = 1u – 48  
 4p = 4u – 192          --- (x4) 
 4u – 192 = 2u --- (4p = 2u) 
 2u = 192 
 1u = 96 
 96 + 24 = 120  (Number of buttons Mrs Sim had at first) 
Q16) 6 x 3 = 18 
 4 x 3 = 12 

 
1
2
  x 18 x 12 = 108 

 Area of triangle MNO = 108 x 2 = 216 cm2 
Q17)  
  

Men 

Chinese : Malay 

3 : 2 

 

Women 

Chinese : Malay 

3 : 3 

 
 a) 5 + 6 = 11 
  11 u = 900 – 130 = 770 
  1 u = 70 
  3 u = 210 (Chinese women) 
 b) 5 u = 350 

  
350
900

  = 
7
18

  

End 
  


